## Bid #PNC2117202B1 - Regional Sewer Air Release Valves

Start Date Sep 10, 2018 11:32:49 AM EDT Awarded Date Not Yet Awarded

PNC2117202B101-01 1: Air Relief Valve Inspection and Documentation									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southeastern Engineering Contractors, Inc	First Offer - \$700.00	40 / each	\$28,000.00		Υ				
		Supplier Product Code: Supplier Notes:							
Southern Underground Industries, Inc.	First Offer - \$5,700.00	40 / each	\$228,000.00	Υ	Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

PNC2117202B101-02 1: Mobilization for Work Order									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southeastern Engineering Contractors, Inc	First Offer - \$3,220.00	40 / each	\$128,800.00		Υ				
		Supplier Product Code: Supplier Notes:							
Southern Underground Industries, Inc.	First Offer - \$6,500.00	40 / each	\$260,000.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

PNC2117202B101-03 1: Project Planning Cost (When no work order is issued)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southern Underground Industries, Inc.	First Offer - \$400.00	5 / each	\$2,000.00		Υ				
		Supplier Product Code: Supplier Notes:							
Southeastern Engineering Contractors, Inc	First Offer - \$700.00	5 / each	\$3,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

PNC2117202B101-04 1: Provide Foreperson									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southern Underground Industries, Inc.	First Offer - \$95.00	40 / hour	\$3,800.00		Υ				
		Supplier Product Code: Supplier Notes:							
Southeastern Engineering Contractors, Inc	First Offer - \$112.00	40 / hour	\$4,480.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

PNC2117202B101-05 1: Provide Laborer/Crewperson									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southern Underground Industries, Inc.	First Offer - \$50.00	40 / hour	\$2,000.00		Υ				
		Supplier Product Code: Supplier Notes:							
Southeastern Engineering Contractors, Inc	First Offer - \$56.00	40 / hour	\$2,240.00		Y				
		Supplier Product Code: Supplier Notes:							

PNC2117202B101-06	1: Exploratory Ex	xcavation		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$600.00	10 / each	\$6,000.00		Υ	
Product Code:		Supplier Product Co	ode:			
		Supplier Notes:				
Southeastern Engineering Contractors, Inc	First Offer - \$840.00	10 / each	\$8,400.00		Υ	
		Supplier Product Code: Supplier Notes:				

PNC2117202B102-01 2: F&I Air Release Valves								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southeastern Engineering Contractors, Inc	First Offer - \$4,648.00	40 / each	\$185,920.00		Υ			
		Supplier Product Code: Supplier Notes:						
Southern Underground Industries, Inc.	First Offer - \$5,500.00	40 / each	\$220,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117202B102-02 2: F&I 5 foot Diameter Maintenance Access Structures									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southern Underground Industries, Inc.	First Offer - \$1,625.00	5 / vertical linear feet	\$8,125.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
Southeastern Engineering Contractors, Inc	First Offer - \$4,611.00	5 / vertical linear feet	\$23,055.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

PNC2117202B102-03 2: F&I 6 foot Diameter Maintenance Access Structures								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$1,500.00	5 / vertical linear feet	\$7,500.00		Υ			
Product Code:		Supplier Product Code: Supplier Notes:						
Southeastern Engineering Contractors, Inc	First Offer - \$5,203.00	5 / vertical linear feet	\$26,015.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117202B102-04 2: F&I 7 foot Diameter Maintenance Access Structures									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southern Underground Industries, Inc.	First Offer - \$1,750.00	3 / vertical linear feet	\$5,250.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Southeastern Engineering Contractors, Inc	First Offer - \$9,054.00	3 / vertical linear feet	\$27,162.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

Supplier	Unit Price	Qtv/Unit	Total Price	Attch.	Docs	
Supplier	Ollit Price	Qty/Offit	Total Price	Atten.	Docs	
Southern Underground Industries, Inc.	First Offer - \$1,875.00	2 / vertical linear feet	\$3,750.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Southeastern Engineering Contractors, Inc	First Offer - \$13,508.00	2 / vertical linear feet	\$27,016.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PNC2117202B102-06 2: Remove Existing Cabinet and Slab							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Southeastern Engineering Contractors, Inc	First Offer - \$1,596.00	20 / each	\$31,920.00		Υ		
		Supplier Product Code: Supplier Notes:					
Southern Underground Industries, Inc.	First Offer - \$2,875.00	20 / each	\$57,500.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

PNC2117202B102-07 2: Remove Existing Maintenance Access Structure								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southeastern Engineering Contractors, Inc	First Offer - \$1,010.00	15 / each	\$15,150.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Southern Underground Industries, Inc.	First Offer - \$2,375.00	15 / each	\$35,625.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	·				

PNC2117202B102-08 2: F&I Stainless Steel Double Strap Service Saddle (Less than 24 inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$850.00	2 / each	\$1,700.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Southeastern Engineering Contractors, Inc	First Offer - \$3,136.00	2 / each	\$6,272.00		Y			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117202B102-09 2: Furnish and Install Stainless Steel Double Strap Service Saddle (24 inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$975.00	12 / each	\$11,700.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Southeastern Engineering Contractors, Inc	First Offer - \$3,710.00	12 / each	\$44,520.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117202B102-10 2: F&I Stainless Steel Double Strap Service Saddle (30 inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$1,300.00	2 / each	\$2,600.00		Υ			
		Supplier Product Code: Supplier Notes:						
Southeastern Engineering Contractors, Inc	First Offer - \$4,424.00	2 / each	\$8,848.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117202B102-11 2: F&I Stainless Steel Double Strap Service Saddle (36 inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$1,375.00	10 / each	\$13,750.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Southeastern Engineering Contractors, Inc	First Offer - \$6,244.00	10 / each	\$62,440.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117202B102-12 2: F&I Stainless Steel Double Strap Service Saddle (42 inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$2,875.00	2 / each	\$5,750.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Southeastern Engineering Contractors, Inc	First Offer - \$6,804.00	2 / each	\$13,608.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117202B102-13 2: F&I Stainless Steel Double Strap Service Saddle (48 inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$3,375.00	8 / each	\$27,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Southeastern Engineering Contractors, Inc	First Offer - \$7,364.00	8 / each	\$58,912.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117202B102-14 2: F&I Stainless Steel Double Strap Service Saddle (54 inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$4,625.00	4 / each	\$18,500.00		Υ			
		Supplier Product Code: Supplier Notes:						
Southeastern Engineering Contractors, Inc	First Offer - \$8,512.00	4 / each	\$34,048.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117202B102-15 2: Furnish Equipment, Labor and Materials to Prepare Concrete, Block and Brick Surf								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$9.00	2000 / square foot	\$18,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Southeastern Engineering Contractors, Inc	First Offer - \$47.00	2000 / square foot	\$94,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2117202B102-16 2: F&I One Component Microsilica Reinforced Wet Mortar								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$10.00	1000 / square foot	\$10,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Southeastern Engineering Contractors, Inc	First Offer - \$14.00	1000 / square foot	\$14,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2117202B102-17 2: F&I One Component Calcium Aluminate Cement and Aggregate Reinforced Wet Mortar									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southern Underground Industries, Inc.	First Offer - \$15.00	1000 / square foot	\$15,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Southeastern Engineering Contractors, Inc	First Offer - \$20.00	1000 / square foot	\$20,000.00		Y				
Product Code:		Supplier Product Co	ode:						

Agency Notes: Supplier Notes:

PNC2117202B102-18 2: Furnish and Install Coal Tar Epoxy Coating to Maintenance Access Structures									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southern Underground Industries, Inc.	First Offer - \$4.20	1000 / square foot	\$4,200.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southeastern Engineering Contractors, Inc	First Offer - \$7.00	1000 / square foot	\$7,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

PNC2117202B102-19 2: Furnish and Install Chimney Seal								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southeastern Engineering Contractors, Inc	First Offer - \$700.00	10 / each	\$7,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
Southern Underground Industries, Inc.	First Offer - \$1,500.00	10 / each	\$15,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117202B102-20 2: F&I new Maintenance Access Structure Frame and Cover									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southeastern Engineering Contractors, Inc	First Offer - \$1,664.00	10 / each	\$16,640.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Southern Underground Industries, Inc.	First Offer - \$2,625.00	10 / each	\$26,250.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

PNC2117202B102-21 2: Reset the Maintenance Access Structure Frame								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$625.00	30 / each	\$18,750.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Southeastern Engineering Contractors, Inc	First Offer - \$1,120.00	30 / each	\$33,600.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117202B102-22 2: Reset the Valve or Cleanout Box Frame								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southern Underground Industries, Inc.	First Offer - \$187.00	50 / each	\$9,350.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	Code:					
Southeastern Engineering Contractors, Inc	First Offer - \$560.00	50 / each	\$28,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2117202B102-23 2: Corbel or Chimney Repair									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southeastern Engineering Contractors, Inc	First Offer - \$70.00	120 / inch	\$8,400.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southern Underground Industries, Inc.	First Offer - \$600.00	120 / inch	\$72,000.00		Υ				

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

PNC2117202B102-24 2: Corbel Replacement								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southeastern Engineering Contractors, Inc	First Offer - \$560.00	5 / vertical linear feet	\$2,800.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Southern Underground Industries, Inc.	First Offer - \$6,125.00	5 / vertical linear feet	\$30,625.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2117202B102-25 2: Chimney Replacement								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southeastern Engineering Contractors, Inc	First Offer - \$700.00	12 / vertical linear feet	\$8,400.00		Υ			
		Supplier Product Code: Supplier Notes:						
Southern Underground Industries, Inc.	First Offer - \$790.00	12 / vertical linear feet	\$9,480.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2117202B103-01 3: F&I Concrete Sidewalk (6 inch Thick)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southeastern Engineering Contractors, Inc	First Offer - \$98.00	50 / square yard	\$4,900.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Southern Underground Industries, Inc.	First Offer - \$150.00	50 / square yard	\$7,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2117202B103-02 3: F&I Curb and Gutter and Valley Gutter									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southeastern Engineering Contractors, Inc	First Offer - \$49.00	50 / linear foot	\$2,450.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Southern Underground Industries, Inc.	First Offer - \$87.00	50 / linear foot	\$4,350.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

PNC2117202B103-03 3: Furnish and Place Lime Rock Base								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southeastern Engineering Contractors, Inc	First Offer - \$35.00	100 / square yard	\$3,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Southern Underground Industries, Inc.	First Offer - \$100.00	100 / square yard	\$10,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	·				

PNC2117202B103-04 3: Mill Existing Asphalt Pavement (2 inch or less)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southeastern Engineering Contractors, Inc	First Offer - \$11.20	4000 / square yard	\$44,800.00		Υ			
Product Code:		Supplier Product Co	oplier Product Code:					
Agency Notes:		Supplier Notes:						
-i	1 1	ı	'	1	i .			

Southern Underground Industries, Inc. | First Offer - \$30.00 | 4000 / square yard | \$120,000.00 | Y

Product Code: | Supplier Product Code: | Supplier Notes: | Supplier Notes

PNC2117202B103-05 3: Furnish and Place Asphalt Concrete Pavement Structural Courses - 2 inch						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$20.00	4000 / square yard	\$80,000.00		Υ	
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				
Southeastern Engineering Contractors, Inc	First Offer - \$33.60	4000 / square yard	\$134,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117202B103-06 3: Furnish and Place Asphalt Concrete Pavement Friction Courses - 1 inch						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$15.00	4000 / square yard	\$60,000.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Southeastern Engineering Contractors, Inc	First Offer - \$28.50	4000 / square yard	\$114,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117202B103-07 3: Furnish and Place Flowable Fill						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$200.00	150 / cubic yard	\$30,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Southeastern Engineering Contractors, Inc	First Offer - \$252.00	150 / cubic yard	\$37,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117202B103-08 3: Furnish and Place Asphalt Concrete pavement - 2 inch - Miscellaneous						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$32.00	1000 / square yard	\$32,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Southeastern Engineering Contractors, Inc	First Offer - \$45.70	1000 / square yard	\$45,700.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117202B103-09 3: F&I Pavement Markings 6 inch Thermoplastic (Double solid, edge stripe, skip dash						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$2.20	5000 / linear foot	\$11,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Southeastern Engineering Contractors, Inc	First Offer - \$14.00	5000 / linear foot	\$70,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117202B103-10 3: F&I RPMs (Yellow - Yellow, Blue- Blue, Red- White, etc.)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$6.00	500 / each	\$3,000.00		Υ	
Product Code: Supplier Product Code:						

Agency Notes:	Supplier Notes:		
Southeastern Engineering Contractors, Inc First Offer - \$11.	) 500 / each \$5,600.00 Y		
Product Code:	Supplier Product Code:		
Agency Notes:	Supplier Notes:		

PNC2117202B103-11 3: Furnish and Place Topsoil					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Southeastern Engineering Contractors, Inc	First Offer - \$11.20	50 / square yard	\$560.00		Υ
		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$40.00	50 / square yard	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117202B103-12 3: Furnish and Place Sod						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southeastern Engineering Contractors, Inc	First Offer - \$16.80	50 / square yard	\$840.00		Υ	
		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$17.00	50 / square yard	\$850.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117202B103-13 3: Furnish Survey Reference Points (as-builts)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southeastern Engineering Contractors, Inc	First Offer - \$700.00	40 / each	\$28,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$1,000.00	40 / each	\$40,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

## Supplier Totals

f Southeas	stern Engineering Contractors, Inc	\$1,472,696.00 (44/44 items)	
	Eduardo Dominguez ed.sec@comcast.net Ph 3057862369681	Address 12054 NW 98th Ave Hialeah Gardens, FL 33018	
Bid Bond	(Status: Authorized on Oct 10, 2018)		
Agency Not	tes:	Supplier Notes:	Head Attch:
Bid Allowance			\$70,000.00
f Southern	underground Industries, Inc.	\$1,549,905.00 (44/44 item	ns)
Bid Contact	Juan Barreneche juanb@southernui.com Ph 954-650-4699	Address 3453 NW 44 Street, Suite 20 Oakland Park, FL 33309	5,
Qualifications	s CBE DBE MBE SB SBE		
Agency Not	tes:	Supplier Notes:	Head

Broward County Board of County Commissioners

Exhibit 1 Page 9 of 9

	<b>,</b>	Page 9 01 9
		(i)
Bid Allowance		\$70,000.00